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motivation

e Provide an example for a multidrop channel touchstone file
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Topology example

e Passive linear example was choosen to
create simulation model and s-parameter
export
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ADS simulation used for Single-ended

s-Parameter export

From this file Touchstone export was generated: 10SPE_linear_max.s16p
(http://www.ieee802.org/3/cg/public/adhoc/10SPE_linear_max.s16p)

5_Param

Start=1.0 kHz

Z=Zd Ohm

[

17=2000 {s}
Istub1=100 {s}

0 s}
IstubB=100 {5}

e
Temg
Num=8
Z=2d Ohm

enm
Termi1
Num=11
Z=Zd Ohm

Z=Zd Ohm

Term
Term18
Num=16
2=Zc Ohm

e lerm = — —
1B Nomed Numes Numeto Tormiz s
©. = - - Num=12 Num=14
015 {1} 1o} Z=Zc Chm Z=Z¢ Ohm Z=Zc Ohm Z=Z¢ Ohtn Z=Ze Ohm
068 {t} {o} = = = =
Ze=512 {t) {c} = = = =
Zo=55 {t} {o} CLINP cLTRP -
tanD=0 {t} fo} TL10 TLIS CLINP
tunel=0 {1} {o} [] []Ze:Ze Ohm ] [] Ze=Ze Ohm w3
Za=Zo Ohm 2020 Ohm Ze=Ze Ohm
L=istub2 mm L=Istub3 mm L=istubd mm Z0=20 Ohm
Ke=Ke Ke=Ke Ke=Ke L=Istub5 mm
Ko=ko Ko=Ka Ko=Ko Ke=Ke Trm
Ae=te Ae=he he=he Ko=Ka Term15
Ac=Aa Ao=Ra Ac=Ao Ae=ha Num=15
Ao=ho 2=2d Ohm
[ | 1 1 1 1
LT - T - - =
| 1 | [ | [ | 1
—d | S | S —d — —
CLINP CLINP CLINP CLINP CLINP CLINP
TL11 LS TL14 TL12 L7 TL18
Term2 Ze=Ze Ohm Ze=Ze Ohm Ze=Ze Chm Ze=Ze Ohm Ze=Ze Ohm Ze=Ze Ohm Ze=Ze Ohm
Num=2 Zo=Zo Ohm Z0=20 Ohin Zo=Zo Ohn Zo=Z0 Ohin Zo=Z0 Ohm Zo=Zo Qhin Zo0=Zo Ohm
Z=Zc Ohm L=It mm L=2 mm L=I3 mm L=k mm L=I5 mm L=I6 mm L=I7 mm
= Ke=Ke Ke=Ke Ke=Ke Ke=Ke Ke=Ke Ke=Ke Ke=Ke
= Ko=Ko Ko=Ko Ko=Ko Ko=Ko Ko=Ko Ko=Ko Ko=Ko
Ae=he Ae=hAe Ae=he Ae=he Ae=Ae
Ao=Ap Ao=ho Ao=ho Ao=Ao Ao=Ao
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ADS simulation used for differential
s-Parameter graph

From this file the following graph was generated, to allow comparison of differential parameters (Sdd21, etc).
Please note, that odd numbers represent differential modes, while even numbers represent common modes

[I S-PARAMETERS

S_Param

[

BalundPort
Num=4 cmPs
h

) var
VAR4
Ke=1.3 {t} {0}

Num=6 chMPa
m

@ VAR

VARG
11=900 s}
1221800 {5}
1321900 {5)
14=7900 (5]
1521900 {5}
16=1900 (5]
1722000 [s)
Istub1=100 {s}
Istub2=100 {8}
Istuba=100 {s}
Istub4=100 {s}
Istub5=100 {s}
Istub&=100 s}

BalundPort

Balun4Port
CMPT

Mum=10 cuPs

BalundPert

BalundPort
Mum=14  Cups
Ohm

A CLINP CLINP CLINP CLINP
Ze=512 {I} {o} Lo TL10 LS TL1g
20755 {1 {a} Ze=ze Onm ze=ze Ohm Zze=ze Ohm Ze=z¢ Ohm
1anD=0 {t} {o) Zo=Z0 Ohm Zo=70 Ghm Zo=70 Ohm Z0=70 Ohm
tunel=0 -t} {o} L=Istubt mm L=lstub2 mm L=Istub3 mm L=lstubd mm L=IstubG mm
Ke=Ke Ke=Ke Ke=Ke Ke=Ke Ke=Ke
Ka=Ko Ko=Ko Ko=Ko Ko=Ko Ko=Ko .
Ae=he Ae=fe Aezhe Ae=he Ae=he erm
Ao=Ao Aa=ha Ao=Ao Ao=ho Ao=hAo lerm15
Num=15
Z=24 Ohm
1 | | |
I LT LT I
1 | 1 |
I T T I
BalundPort ¢y np GLINP GLINP CLINP GLINP BalunsPort
Term CMP1 LT TL1M T8 TL12 L7 RIRES CMP2 o
Term2 Ze=Ze Ohm Ze=Ze Ohm Ze=Ze Ohm Ze=Ze Ohm Ze=Ze Ohm Ze=zZe Ohm T;mm
Num=2 Z0=Z0 Ohm Zo=70 Ghm Z0=Z0 Ohm Zo=Zo Ohm Z20=20 Ohm Zo=Zo Ohm Nomz16
Z=Zc Ohm L=12 mm ki
Ke=Ke Ke=Ke Ke=Ke Ke=Ke ~eebm
= Ko=Ko Ko=Ko Ko=Ko Ko=Ka
Ae=Ae Aes=Ae Ae=Ae Ae=Ae =
Ao=Ao Ao=Ao Ao=Ao Ao=Aa
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